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Population regression function
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B[ TABLE 2.1 Fitted Values and Residuals for the First 15 CEOs

obsno roe salary salaryhat uhat 5 = Bo + Bu:
1 144 1005 1224.058 =
2 109 1001 ~1638542 Ty
3 235 12 1307.969 -275.9692
4 59 578 1072348 —404.3484
5 138 1368 1218508
6 20 1145 1333215 1882151
7 164 1078 1266611 1886108
8 163 1094 1264.761 1707606 12&EBDCEOD#RE
9 105 1237 1157.454 7954626 [F. Z DR DOROEF
10 %3 83 1449.773 -616.7726 HHLDOFAESLY
1 259 567 1442.372 -875.3721 / $526,023 {ELY
12 %8 933 1450.023 g
13 148 1339 1237.009 1019011
14 1875.768 4387678
15 563 211 2004808 6191805 |3
Ty Yi
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w TERBAE B IIWERAE R EEDIEERAT
=HDM? ]

 EHORE

sT=Y -y SE=YGi-pr  SR=) @
i=1 i=1 i=1

Total Sum of Squares Explained Sum of Squares Residual Sum of Squares
WAL DL L EFTHRBASH S LT ERTHRBASHZNER)

AFfEHEEES 19

2-3 OLSO4%14E
RES 3 Py

SST = SSE + SSR
N
SEH  BETRES  BETREES
s TETIEFEYDBEI$EE (R-squared)
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log(wage) = 0.584 + 0.083 educ

wage
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log(salary) = Bg + B 109(sales) + u
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fog(salary) = 4.822 + 0.257 log(sales)
n 1%DFE L — 0.257%DCEO# 518

* {51
Asalary +2.5708
salary __ 10000008 _ +0.257% salary 0257
Asales +10,000,0008 +1% sales %
sales 1,000,000,000$

» log-logz XM E—E
o (OH ML L)
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@ OLSHETE Eestimators D EAFEE 7 EL Population — |Sampleasl| 5 41
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 REIE TS L (RIEB) EAD DD EH e gl BV R RN
B = - 30 (RREN) : -
F— BRI -7~ SE5 5 AN=105A | —> | Samplem 5 pm
° o [N i 5 0 25 Bppoon 25 . ..' :
s RAVMBRYBLERDLETREEEN — 5 S
+ TEMICE D &STHHEICEDD I
s THSIEY R B FENBDRELDH,
E(Bp)=7 E(B1)=7 Var(B) =7, Var(fy) =7
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@ Monte Calro%"%ﬁ An unbiased estimator, W, and an estimator with positive bias, W,.
my=2+3x+tu -
s N =100,000, n = 100, m = 10,000
1,000
Series: BETASER
800 araons 000 P of W, ——— A
600 Mean 3.001257
Median 3.001224
Maximum 3.429046
400 Minimum 2.497484
Std. Dev. 0.109880
200 Skewness -0.052916
IIII |III Kurtosis 3.031889
— | | ' :
%2500 2625 2750 2875 3000 3125 3.2!0- 3375 :,z,::;:fvm ;:gjg::i =H).  EWa =
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The sampling f two unblased f 6.
pdf of W,
pdf of W,
L
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FIGURE C.3

The sampling distributions of a consistent estimator for three sample sizes.
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SIRMEFET L DORERE
= {X7E SLR.1 (Linear in parameters)

y = fBo + fix + v «——— BEATEROOBRILRY

= {iR3E SLR.2 (Random sampling)
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@ TFI | (OLSHEEED R RMH)
SLR.1-SLR.4 =  E(Bp) = Bo, E(B1) = H
s NMRHEOFER
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| @®Monte CalroS2E&
my=2+3x+u
s N =100,000, n =10, m = 10,000

1,000
Series: BETASER

Sample 110000
Observations 10000

2
2

3.003766
Median 2.997587

600
Maximum 4758092
400 Minimum ~ 1.637265
Std.Dev. 0.419043
200 Skewness  0.058148
I I Kurtosis 2.952597
0 ———-ll I.-- 77777 Jarque-Bera  6.571541

2.0 25 3.0 35 4.0

Probability 0.037412
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OLSHEEED 5T

@®Monte Calro=2E&
. y 2+3x+u
=100,000, n = 10,000, m = 10,000

Series: BETASER
Sample 1 10000

Observations 10000
Mean 3.000157
Median 3.000119
Maximum  3.047796
Minimum ~ 2.959836
Std.Dev.  0.011373
Skewness  -0.001241
II I Kurtosis 3.048835
IlI Il--___ S

2.9625 29750 29875 3.0000 3.0125 3.0250 3.0375 3.0500| ‘raueBera  0.996245

2 U 0 N ® WO
S © 9 9 9 9
& &8 8 8 & &

BN oW
S 9 &
& & &

0
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Probability 0.607671
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Var(ulz;) = e = Var(u;)

» RESHEHE T AL TREDHRDHEE TR

S RENBOFRUEEIZ. BBIED 5 EIRFREOK
ﬁ%?’é ETHLND

Z 2 «—— O BESMOTREEE
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i) = T N
se(fo) = m = J n"ZxF/SST,.-

= BRFRBOHESNIARERE GTRERE | LI,
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F=Bx (2.63).
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y=P0+px+tu
Elx=0)=py E(Ix=1)= B, + B,
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e BB 2DVT, H ALy, (DD, ODELLHIDHE
AL, MAZERT I EE TN, &Ko T, ERIC,
FEAITHEITRNEITER
s FHUBIBRATEERD ESICESE
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| e x, BEBRELEHETS
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yi =1 —x)yi(0) +xy,(D)" c-1oE=Ey-50)
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(@214 B2 TOY S LOSEHE
n EEFRGIE. BEIFEITOSSLADSMETR

I2IEZE I EIF
s . re78IX 1978 EDEEFE (B
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n=445R*=0018 T LsmchniEl. 25Th
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